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Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 9983671151
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 99836721133 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
From the given alternatives, select the word which CAR bhe formed using the letters of the Ziver word,

DRAMTICS
Options:

1. % RAIN
2. % CARE
3. % SAME

4. ¥ MAID

Question Number : 1 Question Id : 99836721133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tou mr Eereut # & ag seg giT ST T30 ™ sfeq & SraRt @ ORI @Gy ST ST AT Bl

DRAMTICS
Options:

1. ® RAIN
= % CARE
3. % SAME
4. ¥ MAID

Question Number : 2 Question Id : 99836721134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the odd word pair from the given alternatives.

Options:

1. % Mango : Fruit

2. ® Sharpener : Stationery
2. ¥ Gamme : Cricket

4. ® Computer ; Gadget

Question Number : 2 Question Id : 99836721134 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % o el

2 % gmiAT eEE-amt
3. ¥ e T



4 8 ST IUBA

Question Number : 3 Question Id : 99836721135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ir1 the fOllDWiﬂg questiorn, select the odd letter [letters from the Ziven alternatives,

Options:

1. % YWTF
2. % HVSO
3. ¥ LIGD
4. % RPMI

Question Number : 3 Question Id : 99836721135 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TraferaT wa o o my et # & Tuy arye) arert @& gim

Options:

1. % YWTF
2. % KVSO
3. ¥ LIGD
4, % RPMI

Question Number : 4 Question Id : 99836721136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the fOllOV-.?iﬂg qQuestion, select the related letters from the given alternatives.

NS MH:KL:?
Options:
1. % TN
= ¥ FR
3% HU
4 % 50

Question Number : 4 Question Id : 99836721136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T wg # o my Hewedt o & Heted el w1 giam

M5 MH KLY
Options:
1. % TN
2 ¥ PR
3. % XU
4 % 50

Question Number : 5 Question Id : 99836721137 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
In a certain code language, WATER' is written as "THOEC'. What is the code for ‘GOMTI in that code language?



Options:

1. % EMLRG
2. % DLJCQE
2. % EMERG
4. % DLJCOF

Question Number : 5 Question Id : 99836721137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

U e #E 9T H WATER &1 TEQEO 6T 9T 81 56 #1591 § ‘GOMTL’ 1§15 #4757
Options:

1. ¥ EMLRG

= ® DLJGE

3. % EMKRG

4. ¥ DLJOF

Question Number : 6 Question Id : 99836721138 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ini a certain code language, Heawen 15 lord’ 15 written a5 '@ # R, 'Lord are great’ 15 written as 'HE &, "Humans
are heaverl’ is writtenn as ‘T 9 @ What is the code for "is’ in that code language?

Options:
1.9 #
2. %R
2% 9
4 % @

Question Number : 6 Question Id : 99836721138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T TAtE wE ¥ H, ‘Heaven is lord’ @1 '@ # R W1 9@T S, ‘Lord are great” @ 'HR 9 =1 9@71 8, ‘Humans are
heaven’ T 9 @ WETAET Y SHFIS AT H {5 FTFIS FAT 57

Options:
1.9 #
2. %R
2% 9
4 % @

Question Number : 7 Question Id : 99836721139 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Six customers C, F, K, L, M and K are sitting in a row facing towards south {not necessarily in the same order).
K is sitting second to the left of C. Only B is sitting between L and C. M is sitting to the immediate right of K. L
i3 sitting at one of the end. Who is sitting second to the right of F?

Options:
1. R
= W M
%K
4 %



Question Number : 7 Question Id : 99836721139 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ¥R

2 ¥ M

3. % K

4. % C

Question Number : 8 Question Id : 99836721140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following questicon below are giverl some statermnents followed by some conclusions based on those
staternents. Taking the given statements to be true even if they seem to be at variance from commonly known
facts. Read all the conclusions and then decide which of the given conclusion logically follows the given
Staternents.

Staternents:

[. Some black are dog.
II. All dog are white.
III. &1l red are white.

Conclusions:

I. Some red are black.

II. Some white are black.

IIT. Mo white 15 black,

Options:

1. % Cnly conclusion IT follow

. % Both conclusion IT and I follow
3. % Both conclusion I and I follow

4. % Only conclusion 1T follow

Question Number : 8 Question Id : 99836721140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 9 Question Id : 99836721141 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the missing number from the given series.

293, 201, 208, 214, 319, 7
Options:

1. % 327

2 % 321

3. ¥ 323

4 % 325

Question Number : 9 Question Id : 99836721141 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TrRTeTaT W § 7 TS AW & gH 4 F S
293, 301, 3058, 214, 319, 7

Options:

1. ¥ 327

=z % 221

3. ¥ 323

4, ® 325

Question Number : 10 Question Id : 99836721142 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In1 the fOllOWiﬂg question, select the related nurmber from the gZiven alternatives.

So15 070
Options:
1. % 20
e ¥ 21
3. % 22
4 % 13

Question Number : 10 Question Id : 99836721142 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % Z0

2 ¥ 21

3 % 22

4 % 13



Question Number : 11 Question Id : 99836721143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ev interchanging which two nurrbers the equation will be correct?

E+>-Cxw2+4=-1
Options:

1. % 3and 2

2. % Zand 4

3. % Sand &

4 % gand 4

Question Number : 11 Question Id : 99836721143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TorT ST TRegTalf T S0 H WEUE el UF GHIE0 Tgl 51 SAgT?

BE+3-SxwZ2+4=-1
Options:

1. % 29w

=z W 2 g

3. % CqUTE

4. % g qur4

Question Number : 12 Question Id : 99836721144 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ev interchanging the given two signs which of the following equation will e correct?

+ and =

Options:

1. ¥ 74+3x2-6=7

2 % 4x32-246=18
3¥ 123 xE-14+2=-9
4 #E4+7x16-2=-20

Question Number : 12 Question Id : 99836721144 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e o =t gt @t e § e agae W eiRET # & @19 |7 S agt i

+ T =

Options:

1. ¥ 74+3x2-6=7

2 % 4x3-246=18
¥ 13 xE-144+2=-3
4 # 5 4+7x16-2=-20

Question Number : 13 Question Id : 99836721145 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the nurmber which can be placed at the sign of question mark (7 from the
given alternatives.

o) LoD C
QOAS AN,

Options:
1. ¥ 54
2. % 53
3. % 58
4 % 52

Question Number : 13 Question Id : 99836721145 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. ¥ 54
= % CR
3. % 5B
4 % 52

Question Number : 14 Question Id : 99836721146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If 'H means "', ' means '+, K’ means - and M means "=, then 12 J16Ma9HZ7K 2 =7
Options:

1. % 81

2. % 49

=3 %

4, % 51

Question Number : 14 Question Id : 99836721146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

It H @ el T wrent o, K wmrent - qer M wrel gL AT13 ] 1I6MOHEFK 2 =7
Options:

1. % 51

2 #® 49

3. ¥ Eg

4 %51

Question Number : 15 Question Id : 99836721147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Identify the diagram that best represents the relationship among the given classes.

Per, Stationery, Wood
Options:

(©o
@
©

o
i

Question Number : 15 Question Id : 99836721147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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@
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P
®




Question Number : 16 Question Id : 99836721148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What will come opposite to face containing 37

B
S3|A|X]9

Options:
1. % B
2 9
3. %9
4. % B

Question Number : 16 Question Id : 99836721148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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B
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Options:
1. %B
2
3. %9
4 % g

Question Number : 17 Question Id : 99836721149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Arnarn starts wallking towards south. He walls 40 lan and takes a right turn. He then wallss 50 kmand talkes a

left turn. He then walks 60 ki and takes a right turn. He then walks another 50 km before corming o stop.
Howr far and in which direction is he from his starting point?

Options:

50vZ km, South-East



100v2 km, South-East

50v2Z km, South-West

100v2 km, South-West

Question Number : 17 Question Id : 99836721149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

50v2 T, efgto-ug

100v2 T3, gfaur-g@

50v2 ., gidur-aiteH

100v2 =r.#T, gT8r-aieas

4 &

Question Number : 18 Question Id : 99836721150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the odd figure from the given alternatives.

Options:

[e—]
J

J
G—e

J.I




B4

4 % ]

Question Number : 18 Question Id : 99836721150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tl na & o my Resdt # & By syl @ g

Options:

[l

3. J

B4

" !

Question Number : 19 Question Id : 99836721151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the odd figure from the given alternatives.

Options:




b
4

Question Number : 19 Question Id : 99836721151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

t
#

A Y
O'
A A

A

a4, \4
F-

4] v

A A

a4 w
'D
A v
v

Question Number : 20 Question Id : 99836721152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If a rmirror is placed on the line AE, then which of the answer figures is the right image of the given figure?

A

> s
A N
L

mn = =

Options:




R D A
AN
w48
R < A
NAH
I N
R < 5
W
oo L8

Question Number : 20 Question Id : 99836721152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tt U ST BT AR ¥ 0T TAT A, F7 ) T8 Fo SETadt # 8 FI 6l ST W ST o we i fele gy

A
R > S
F AN
E L
B
Options:
RqA
m4aHd
L e bl
R A
MAH
5 % | q
R34
N A
5 ® Jd C|
R4
M a4
4w L8

Gereral Awareress
Group Number : 2



Group Id : 998367791

Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

GETIeral AWATrerness

Section Id : 998367912

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 9983671152
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 99836721153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following pair of Dance - State is NOT correct?

I. Garba - Gujarat
II. Lavani - Chhattisgarh
I1I. Bhargra - Punjab

Options:

1. ® landll
2. % [landIIl
=3

4 % III

Question Number : 21 Question Id : 99836721153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
PrfeiaT i & Fi o ST e - e e 2
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Options:

1. % 1 q47Il



2. % 11 99rlll
3. VI
4. % I

Question Number : 22 Question Id : 99836721154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Armir Khusrau's name is associated with the invention of which musical instrument?

Options:

1. # Sitar

= % Tabla

2. % Both Sitar and Tabla

4 % Guitar

Question Number : 22 Question Id : 99836721154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
SHIT a1 AT 3 aTel 99 & 1w § J2187

Options:

1. ® feamw

2. % qeer

3. ¥ ToaT o qamr At
4 % R

Question Number : 23 Question Id : 99836721155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
supt Godavari Caves are in

Options:

1. % Ehopal

2. ¥ Chitrakoot
3. # Lucknow

4. % Kanpur

Question Number : 23 Question Id : 99836721155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TH TR e "
Options:

1. % oo

2. ¥ FEge
3 % mEaS
4.*@35%

Question Number : 24 Question Id : 99836721156 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
what is the full form of FII?

Options:



1. #® Foreign Industrial Investor
2. % Foreign Institute Investor
3. % Foreign Indian Investor

4. % Foreign Institutional Investor

Question Number : 24 Question Id : 99836721156 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FI1 T SET8H & F47 57

Options:

1. ¥ BN TEiEedd Eraeet

2. % BNA EIE]T Erdve]

3. ¥ onT TiEad geaee

4 & BT S I et

Question Number : 25 Question Id : 99836721157 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following scheme was launched in Interim Budget 2019-207

Options:

1. % MNirmal Eharat Abhivan

2. % PradhanMantri Kisan Samman MNidhi
3. % MGNREGA

4 % UTTWALS

Question Number : 25 Question Id : 99836721157 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrafeET o & w9 At aiemr d iy a9 2019-20 § g% & e 47

Options:

1. ¥ e vwT s

2, & WA e JEEe AT
% % MGNREGA

4. % UJIWALA

Question Number : 26 Question Id : 99836721158 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following motion is followed by a pendulum?

Options:

1. % Rectilinear
2. % Circular
3. ¥ Periodic

4. % Simple

Question Number : 26 Question Id : 99836721158 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e & & ®19 9 nid uw dgan geT st 27



Options:

1. % S
= AT
3. ¥ gmEE
4, % \WH

Question Number : 27 Question Id : 99836721159 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
To prepare compost out of waste and garbage by the method of Vermicomposting, are usad.

Options:

1. ¥ Earthworms
2. % Tapeworms
3. # Leeches

4 % Ants

Question Number : 27 Question Id : 99836721159 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TTH TP T S T2TEr ZT T e 9 e o ol

Options:

1. g
o, % FEH
3 % Fw
4. % i

T FOANT ToraT ATaT )

Question Number : 28 Question Id : 99836721160 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following gives red soil its colour?

Options:

1. ¥ Iron

2. % Phosphorus
3. * Silica

4. % Nitrogen

Question Number : 28 Question Id : 99836721160 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrraieET # & W A7 AT HaT ®7 @ 7 &7 27

Options:

1. @ET

2. ® BIERR
3. ® Efee
4. % g

Question Number : 29 Question Id : 99836721161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



which is the largest peninsular river of India?
Options:

1. ¥ Mahanadi

Z % MNarmada

2. ¥ Godavari

4. % Krishna

Question Number : 29 Question Id : 99836721161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

URT T Tel T2 | WA I AaT P & 87
Options:

1. % wgea

o % T

z. ¥ T

4 % oy

Question Number : 30 Question Id : 99836721162 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat is the shallowest part of an ocean called?

Options:

1. #¥ Continental slope
Z % Deep sed plain

3. #® Oceanic deeps

4. % Continental Shelf

Question Number : 30 Question Id : 99836721162 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e AETEINI o Wat J9a T &1 97 TgT AT 57
Options:

1. % mgrande ama

2. % TECEHg @1 e

% % mETETIE TR

4. ¥ T e

Question Number : 31 Question Id : 99836721163 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“hauri Chaura incident tools place i which year?

Options:
1.9 1922

2. % 1929
3. % 1930
4 % 1918

Question Number : 31 Question Id : 99836721163 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
=T =T Sl e o e o g off?

Options:

1.9 1922
2 % 1929
3. % 1920

4. % 1918

Question Number : 32 Question Id : 99836721164 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What i3 the study of inscriptions called?

Options:

1. # Palasography
Z % Numismatics
3. % Epigraphy

4. % Archasology

Question Number : 32 Question Id : 99836721164 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
THATerE! & sTeTe T T HET AT 57

Options:

1. ® @IergleET (oo
2 ® gorars (gEehiea)
= ¥ arfiwrg (o)

4 % RHCAITE (ST )

Question Number : 33 Question Id : 99836721165 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Inn which session of Congress, the resolution for Purna Swara] was adopted?

Options:

1. % Lahore Session
Z % Gaya Session
3. % Karachi Session

4. % Calcutta Session

Question Number : 33 Question Id : 99836721165 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I o Tore arterera o quf S/ @7 uedTe SO T oY

Options:

1. & AT arterdam
o, % TT arfede
3. % gl artida
4. ® gy srrerde



Question Number : 34 Question Id : 99836721166 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which country the headquarter of World Trade Organisation is located?

Options:

1. % Canada

2. % France

3. ¥ Switzerland

4. # Japan

Question Number : 34 Question Id : 99836721166 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TePer SHTa EITE T Gedierd e g § e g7
Options:

1. % %127

> ¥ mg
3. ¢ e
4 ® FME

Question Number : 35 Question Id : 99836721167 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which movie worl the best motion picture Oscar in 20137

Options:

1. % Elack Panther
2. ¥ Green Boolk
3. % A Star [s Born
4. ® Vice

Question Number : 35 Question Id : 99836721167 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
2019 # G Arae e sTea T ey = ST

Options:

1. % o e

2 ¥ U gF

3 % gErsTad
4 % FEq

Question Number : 36 Question Id : 99836721168 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is the official language of India?

Options:

1. % MNepali
= ¥ Urdu
3. % Arabic

4 % Persian



Question Number : 36 Question Id : 99836721168 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e # & I AT @ TS W 57

Options:
1. % Surer
2. ¥ 3
3 % amEr
4 ® HEHET

Question Number : 37 Question Id : 99836721169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who appoints the Governor of States?

Options:

1. # Chief Minister
2. % Prime Minister
3. ¥ President

4 #* Vire President

Question Number : 37 Question Id : 99836721169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ta1 % TIUTA & it &1 el 57

Options:

1. % geEaeEt
o ® g mEr
3. ¥ Tl

4, % FurEIyg

Question Number : 38 Question Id : 99836721170 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which is the apex body of Panchavyats at the District Leveal?

Options:

1. # Gram Panchavyat
2. ¥ Zila Parichavat
3. % Gram Sabha

4 # State Government

Question Number : 38 Question Id : 99836721170 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FART €97 U U=t ot i e w6 8

Options:

1. % g w=EET
2. & T T=EET
3. % T



4. ® I G

Question Number : 39 Question Id : 99836721171 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T HHASFYT TR 2018 H YT 1 U1 TS TaelT=T &m

Options:

1. O T

o % oot Ry

3. % Ja e ae
4, % e TmaT

Question Number : 39 Question Id : 99836721171 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
bagged India's first medal in Cornmonwealth Games 2018,

Options:
1. % P Gururaja

. % p v Sindhu
3. % Saikhom Mirabai chanu

4. % MNeeraj Chopra

Question Number : 40 Question Id : 99836721172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ern Passant is related to Farne.

Options:
1. ® Carrom

2. ¥ Chess
3. ® Hockey
4 % Ludo

Question Number : 40 Question Id : 99836721172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T, WA HATET 71

Options:

1. % &=H

2, ¢ i
3. % EThT
4 % F=t

Arithrnetic Ability
Group Number : 3
Group Id: 998367792
Group Maximum Duration : 0
Group Minimum Duration : 0



Revisit allowed for view? : No

Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Arithrnetic Ability

Section Id : 998367913

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 9983671153
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 99836721173 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
2 5

What is the value of: 813_ -+ Qg X V27

Options:

O | e

3. % 18

Question Number : 41 Question Id : 99836721173 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
2 5
3

B1° ==

Options:

x /27 T AT 1 g2



O | e

3. % 18

5
(s
|

Question Number : 42 Question Id : 99836721174 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following has the least value?

Options:

i e

2. % 0001

v0.001

Question Number : 42 Question Id : 99836721174 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tt § & wad &9 A e &7

Options:

| LT

2. % 0001

v0.001

Question Number : 43 Question Id : 99836721175 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

what is the smallest 4 digit number which gives remainder of 2, 4 and & when divided by 13, 15 and 16
respectively’?

Options:

1. % 4625
2. % 1209
3. ¥ 2108

4 % 3209

Question Number : 43 Question Id : 99836721175 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
4 ST & Hed BT ST AT s, AT 13, 15 T97 16 & [T 519 0 @A 2, 4 97 5 S9ha a7

Options:

1. % 4625
2. % 1209
3. ¥ 2109
4. % 3209

Question Number : 44 Question Id : 99836721176 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The marked price of an article is Es. 1250 and a discount of 20% is given on it. What is the selling price of the
article?

Options:

1. % Rs 1100
2. % Es. 1000
2. % Rs 900
4 % Rs 1050

Question Number : 44 Question Id : 99836721176 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
U =g, 7 T Hed 1250 0 § 39T 39 W 20% H1 72 51 T2 81 a%q @1 0@ Jrd F4T 57

Options:

1. % 1100
2. ¥ 1000 T
3 % 900 T

4 # 1050 w2

Question Number : 45 Question Id : 99836721177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& wendor buys an article for Rs. 840 and wants to gain 15% after selling it at a discount of 8%, What should be
the rmarked price of the article?

Options:
1. % REs 1000
2. % Hs 1100

3. ¥ Rs. 1050



4. % Rz 930

Question Number : 45 Question Id : 99836721177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e TeloaT e e 1 340 T T GG & T I 8% T g UL 3 U, 159% #TH BHAT =IEa] 21 aeq AT Sifhd e o 5T

Options:
1. % 1000 &2

o % 1100 =
= & 1050 0
4 ¥ 950 T

Question Number : 46 Question Id : 99836721178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If &'s marks are 12.5% of B's marks, then B's marks are what percent of 4's marks?

Options:

1. ¥ 105 percent
= ¥ 200 percent
3. % BE percent

4. % 100 percent

Question Number : 46 Question Id : 99836721178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
g 4 & 3, EF fF & 12.5% 5, ITE & 2T A F 2F & fpd HidaT 27

Options:

1. % 105 ofdaa
2. ¥ 800 HidaT
% % 25 uide

4 ® 100 g

Question Number : 47 Question Id : 99836721179 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If 70 is subtracted from 70% of a number, then result will be 420, What is the number?

Options:

1. % 560
= ¥ 700
3. % 490
4. % 500

Question Number : 47 Question Id : 99836721179 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

i U ST & 7O% & 70 T O ST Ay, a7 9 420 S S99y 797 57
Options:

1. % 5&0



2. % 700
3% 4490
4. % g00

Question Number : 48 Question Id : 99836721180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& student got 22% marks in an examand failed by 55 marks. Another student got Z5% marks and his marks
are 10 more than the minirmum passing marks. Wwhat is the percentage for minimum passing marks and what
is the maximum marks for the exam?

Options:

1. % 25%, 600
2. % 320%, 400
2. ¥ 23%, 500
4 % 30%, 500

Question Number : 48 Question Id : 99836721180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T G TICHT H 22% &7 UTH el G201 55 &7 F SIgiivl 51 SI7a1 51 Ta T S5% it WIH @edT § 97 38 37 ~qraa d J 0
3 10 SITER g1 ~AqH o0l STk ol Wic ST 0 § Tl UiKa o Tol] SiTemkd | i 7 57

Options:

1. % 25%, 600
2. % 30%, 400
3. % 23%, 500
4 % 3Z0%, 500

Question Number : 49 Question Id : 99836721181 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Anil sold a table and a chair each for Es. 1000 each. He incurred 10% loss on the table and earned 10% profit
orl the chair. What is his overall profit | loss percentage?

Options:

1. % 10% profit
2. % 0.1%loss
3. ¥ 1% loss

4. % 1. 1% profit

Question Number : 49 Question Id : 99836721181 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ﬁmﬁﬂwﬁ%mﬁuﬁﬁﬁaﬁ 1000 F0 &1 <27 81 39 B 0 10% T g1 T97 F81 U 10% T AT 5197 21 JHH] ARTJETA
ST T B

Options:
1. % 10% &

2 % 0.1% g7
= ¢ 1% BT

4 % 1 1%&m



Question Number : 50 Question Id : 99836721182 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Two numbers are in the ratio = ;4. If their difference is 7, then what is their sum?

Options:
1.9 435
2. % 5B
3. % 35
4 % 50

Question Number : 50 Question Id : 99836721182 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

STEEAN 3 - 4 o SgUT | g1 Il IART Sa€ 7 g, T IR AN FAT 57
Options:

1.9 49

2 % G5E

3. % 35

4. % 50

Question Number : 51 Question Id : 99836721183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The ratio of two numbers is & ; 11, If 5 is subtracted from each nurmber, their ratio becormnes 1:2. What is their
difference?

Options:
1.9 25
2. % 30
3% 20
4 % 28

Question Number : 51 Question Id : 99836721183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT HeEaTet T aruTd 6 ¢ 11 81 A weder ST € 5 uey T A a7 39w Ui 1 ;2 51T 21 ST Sla¥ 34T 87
Options:

1.9 25

2. % 30

3% 20

4 % 28

Question Number : 52 Question Id : 99836721184 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A, Band C have money in the ratio of 8 : 6 7 respactively. Total money of 4 and E is 20 more than the C's
money. How much money does E hawve?

Options:
1.9 24

2. % 36



2 % 50
4 % 54

Question Number : 52 Question Id : 99836721184 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ABTINCHFURPAME - 6 : 7 F U § &9 51 A TITE FT Pl oM, C & o & 20 118 31 B & U a1 e 57

Options:
1.9 24
2. % 36
2% B0
4 % 54

Question Number : 53 Question Id : 99836721185 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What will e the simple interest on a surl of Bs. 9000 for 2 vears at the rate of 10% PEer anmnumy

Options:

1. % Rs 2100
2. % Rs 2500
2. % Rs 2400
4 ¥ Rs 2700

Question Number : 53 Question Id : 99836721185 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T Q000 T & TTIE T 10% 0id o o =2 S 3t o7 AT s 47 57

Options:
1. % 2100 =72

= ® oS00 e
= ¥ 2400 w0
4. % 2700 T

Question Number : 54 Question Id : 99836721186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A PErsOn Covers first 1500 metres of his Journey in 500 second and he cowers next 2500 metres in 1500
seconds. What is the average speed of the person for the journey?

Options:

1. % 8.2 kmjhr

!
2 % 65 kmihr
3. ¥ 7.2 km/hr
4 % g6 kmihr

Question Number : 54 Question Id : 99836721186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T ST ST I &1 T5aT 1500 Aie, SO0 S0 § 79 §d1 & 9907 95 ST 2500 Afex, 1500 A% # 99 947 51 JET &
Tony zarfee T afte i /T 27




Options:

1. % 5.2 fomdT juer
2. % g5 fp L jEeT
3. ¥ 7.2 TEdn jEeT
4. % 56 AL jEeT

Question Number : 55 Question Id : 99836721187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Disha can do 2/ 5th part of a work in 4 days. In how many days can shie cornplete the total work?

Options:

1. % 20days
2 ¥ 10 days
= % 1t days
4 % 25 days

Question Number : 55 Question Id : 99836721187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T O F w125 91 90T 4 T § W F A1 81 9% Fol B9 fha Tod § T B Tl 57
Options:

1. % 20 %A

o ¥ 10T

3 % 151

4 % 25 fag

Question Number : 56 Question Id : 99836721188 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& can do 1j4th part of a work in 2 days. E can do 2/ 2rd part of same work in 12 davys. If they both work
together and earn a total amount of Rs. 1000, then what is the difference between the profit share of A and B?

Options:

1. % Es. 360
2. % Rs 250
2. ¥ Rs. ZE0

4 % Hs 180

Question Number : 56 Question Id : 99836721188 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ATFFEFT 1|4 T AT S A # I AFar 31 E TAT &1 971 23 I 90T 12 T 7 ¢ a@ar 81 Tie o T T o1 @i 5 a9
el 1000 B0 T TS WIH F0d §, a7 4 TATE o o0 o T5ed & sfidd &7 Sia¥ Fa1 57

Options:

1. % z60w
2. % 250 T
3 ¥ 280 T
4, % 180 =




Question Number : 57 Question Id : 99836721189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The length, breadth and height of a box are 12 crm, 10 cmand & cm respectively. What is the cost of painting

the box on all its faces at the rate of Rs. 12 cm?
Options:

1. % Es 5500

2 ¥ Rz 6043

3. % Rs 6280

4 % Hs 6560

Question Number : 57 Question Id : 99836721189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e T A ATE, e F S e 12 A4, 103 T e A B 12 A7 w0t 4 2 99 ¥ wlt wewt @ o
1 AN FATE7

Options:

1. % 5500 w0
2. ¥ G045 T
% % gREO T

4 ¥ gEEQ e

Question Number : 58 Question Id : 99836721190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The ratio of surface area of two sphere is 81 : 1. What is ratio of the radii of the spheres?

Options:

1.%32:1
2 ¥ a1l
% 271
4 % 21:1

Question Number : 58 Question Id : 99836721190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ST AT o QU St T SIgATd 81 0 1 81 §oek! T2l T SIJUTd 4T &7
Options:

1.%3:1

2 ¥ a1

3% 2701

4 % 21:1

Question Number : 59 Question Id : 99836721191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The pie chart given below shows the percentage of matches playved by different tearms in a world cup.

If the total matches plaved in a world cup is 200, then what is the number of matches played by tearmn B?
Options:
1. % 24
=z w42
3. ¥ 4B
4 % 22

Question Number : 59 Question Id : 99836721191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
et Tea o o o o0 | T S0 T e o 89 O nid e @ gaiar 8

afe fear 0 | w200 B €9 T §, 91 S0 B ERT 9ol 0 Al &1 HEa7 747 87
Options:
1. % 24

2. % 42
3. ¥ 48
4. % 32

Question Number : 60 Question Id : 99836721192 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The bar graph given below shows the number of cars parked for five days.

) 150
g B :
o
S 120 1 100 100
= 100 - Ll —
O 80 -
S 60 50 50
2 40 A
E 20 -
Z D T T T T 1

D1 D2 D3 D4 D5
Day

what is the sum total nurnber of cars parked on all the days?
Options:

1. % 350

2. % 3275

2% 400

4. ¥ 450

Question Number : 60 Question Id : 99836721192 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
et ez T gve o uie fm o oy =2 & S W & e @ gaiar ol

160 - el
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Options:
1. % 3E0
2. % 375
=% 400

4. % 450



eneral English

Group Number : 4
Group Id : 998367793
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

eneral English

Section Id : 998367914

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 16

Number of Questionsto be attempted: 16

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number : 1
Sub-Section 1d: 9983671154
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 99836721193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose ™o error’.

Ten thousand (1) [ rupees are (2) | a large sum (3) | NE i)
Options:
1.%1
= W2
3% 3
4 % 4

Question Number : 61 Question Id : 99836721193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose To error,

Ten thousand (1) [ rupees are (2) | a large sum (3) [ ME ()
Options:
1.%1
=



3 % 3
4. % 4

Question Number : 62 Question Id : 99836721194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify a staterment that Ccontains an error.

Options:

1. # The orator and the statesrman are dead
2. % Each boy and girl were given a try

3. % FEither vou or he is to blame

4. % The United States has a big navy

Question Number : 62 Question Id : 99836721194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
IdEI‘ltif‘}F a staternent that contains an error.

Options:

1. * The orator and the statesman are dead
2. % Each boy and girl were given a try

3. % Either vou or he is to blame

4. % The United States has a big navy

Question Number : 63 Question Id : 99836721195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

She has decided to resign and work (for her owr).
Options:

1. % for his owrl

2. % for himself

3. ¥ for herself

4. # Mo improvernent

Question Number : 63 Question Id : 99836721195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

She has decided to resign and work: (for her ow).
Options:

1. % for his owrl

= % for hirmself

3. ¥ for herself

4. % No improvermnent

Question Number : 64 Question Id : 99836721196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Improve the bracketed part of the sentence.

[ wrant to write sorre letters (so1 [ don't have a paper to write ol
Options:

1. % but

2. ® since

3 % as

4. % MNoimprovernent

Question Number : 64 Question Id : 99836721196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

[ want to write sorme letters (50) [ don't have a paper to write o,
Options:

1. % but

2. % since

2 % as

4. % DMNoimprovernent

Question Number : 65 Question Id : 99836721197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[rnprove the bracketed part of the sentence,

e enjoved a very good weather while we were (to) holiday.
Options:

1. % in

2 ¥ on

2. % over

4. % IMNoimprovernent

Question Number : 65 Question Id : 99836721197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

We erjoved a very g2ood weather while we were fo) holiday.
Options:

1. %in

2. ¥ on

2. % over

4. % MNoimprovernent

Question Number : 66 Question Id : 99836721198 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The question below consists of a set of labeled sentenices. Out of the four options given, select the most logical
order of the sentenices to form a coherent paragraph.

F: A5 a result some people may see a doctor with the cornplaint of headache.
2 Everyone develops headache.

E: Whereas, some people may apply a balm on the forehead to remove the pain.
5: Thereupon, headache causes a lot of inconvenience.

Options:

1. % PQRS
2. % QS5REP
2. ¥ OSPR
4 % QPSR

Question Number : 66 Question Id : 99836721198 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

The question below consists of a set of labeled sentences. Cut of the four options given, select the most logical
order of the sentenices to form a coherent paragraph.

F: 45 a result some people may see a doctor with the complaint of headache.

3 Eweryone develops headache.

R Whereas, some people may apply a balm on the forehead to remove the pain.
S: Thereupor, headache causes a lot of inconvenience.

Options:

1. % PQORS
2. % 5REP
2. ¥ OSPR
4 % QPSR

Question Number : 67 Question Id : 99836721199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“hoose the word that means the same as the given word.

Yacant

Options:

1. ® Comforting
2. % Applaud

2. ¥ Desolate

4 % Restored

Question Number : 67 Question Id : 99836721199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_hoose the word that rmeans the same as the given word,

YVacant

Options:

1. # Comforting
2. % Applaud

. % Desolate



4. % Restored

Question Number : 68 Question Id : 99836721200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that 15 opposite in meaning to the given word.

Radical
Options:

1. ® Organic
= % Basal

3. % MNatural
4. ¥ Moderate

Question Number : 68 Question Id : 99836721200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_hoose the word that is opposite in meaning to the given word.

Radical
Options:

1. % Organic
2. % Basal
2. % Natural

4 % Moderate

Question Number : 69 Question Id : 99836721201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ir1 the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
wiord.

Options:

1. % Ambiguity
Z % Embiguity
3. # Ambeguity
4. % Ambiguety

Question Number : 69 Question Id : 99836721201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
word.

Options:

1. % Ambiguity
2. % Embiguity
3. % Ambeguity
4. ® Armbiguety

Question Number : 70 Question Id : 99836721202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
word.

Options:

1. * Restriketd

2. ¥ Subtle

2. % Cunfinerment

4. % Domastic

Question Number : 70 Question Id : 99836721202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
wiord.

Options:

1. * Restriketd

= ¥ Subtle

2. % Cunfinerment

4. % Diormastic

Question Number : 71 Question Id : 99836721203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
WOrd.

Options:

1. % Mispell

2. % Supercede
3. ¥ Severely

4. # Tltrance

Question Number : 71 Question Id : 99836721203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
wordl.

Options:

1. % Mispell

2. % Supercede
2. ¥ Severely

4. % trance

Question Number : 72 Question Id : 99836721204 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, cut of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom | Phrase.

To put cart before the house
Options:



1. % To do things in the reverse/wrong order
2. % To dream of big things about the future
3. % Toinfuriate someone

4. % Right to the end despite difficulties

Question Number : 72 Question Id : 99836721204 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, cut of the given four alternatives, select the alternative which best expresses the
meaning of the [dicm | Phrase.

To put cart before the house

Options:

1. % To do things in the reverse |wrong order
2. % To dream of big things about the future
Z. % Toinfuriate someone

4. % Right to the end despite difficulties

Question Number : 73 Question Id : 99836721205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fill in the blank with the best option.

Sanvya is with her friends.

Options:

1. % building castles in the air
2. % making one blood boil

%, % blessing in disguise

4, % preaka leg

Question Number : 73 Question Id : 99836721205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fill in the blank with the best option.

Sanva is with her friends.
Options:

1. ¥ building castles in the air

2. % making one blood boil
% % plessing in disguise
4. % preaka leg

Question Number : 74 Question Id : 99836721206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that can substitute the given sentence.

Done at the sarne tirmne
Options:
1. ¥ Fatalism



2. % Erittle
=% Sirmultaneous
4 % Rhetoric

Question Number : 74 Question Id : 99836721206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the Ziven sentence.

Done at the same time
Options:

1. * Fatalism

= % Erittle

3. ¥ Sirmaltanecns

4. % Rhetoric

Question Number : 75 Question Id : 99836721207 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given sentence.

& speech delivered for the first tirme.
Options:

1. ¥ Maiden

2. % Cascade

2. % Clfactory

4 % anarchist

Question Number : 75 Question Id : 99836721207 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that can substitute the given senternce.

A& speech delivered for the first time.
Options:
1. ¥ Maiden

2. % Cascade
3. % Clfactory
4 % anarchist

Sub-Section Number : 2
Sub-Section I1d: 9983671155
Question Shuffling Allowed : Yes

Question Id : 99836721208 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Cuesticon Label | Comprehension



Read the following information carefully and answer the given questions:

Susan Diane Wojcicki is a Polish-American techrnology executive. She has been the CEO of YouTube since
February 2014, Wojcicki was involved in the founding of Google and became Google's first marketing manager
in 19949, She was in charge of Google's original video service, and after observing the success of YouTube, she
proposed the acquisition of YouTube by Google in 2006,

Wiojcicki has an estimated net worth of nearly $500 million. Wojcicki is the daughter of Esther Wojcicki, an
educator of Russian-Jewish descent, and Stanley Wojcicki, a Polish American physics professor at Stanford
University. She has two sisters: Janet Wojcicki, (Ph.D., anthropologist and epidernnologist) and Anne Wojcicki,
founder of 23andie. She grew up on the Stanford campus with George Dantzig as a neighbour. She attended
Gunn High School in Palo Alto, California, and wrote for the school newspaper.

Waojcicki's first business was selling "spice ropes" door-to-door at age 11, & humanities major in college, she
took: her first computer scierce class as a senior. Wojcicki studied history and literature at Harvard University
and graduated with honors in 1990, She originally planned on getting a Fh.D. in economics and pursuing a
career in acaderia but changed her plans when she discovered an interest in technology.

She also received her Master's of Science in econormmics from the University of California, Santa Cruz in 1993
and a Master of Business Administration from the UCLA Anderson School of Management in 1998 In
Septermber 1998, the same month that Google was incorporated, its founders Larry Page and Sergey Erin set
up an office in Wojcicki's garage in Menlo Fark. Eefore becoming Google's first marketing manager in 19949,
Wiojcicki worked in marketing at Intel Corporation in Santa Clara, California, and was a managerment
consultant at Bain & Cornpany and BB Webber & Company. At Google, she worked o the initial viral
marketing programs, as well as the first Google Doodles. Wojcicki also took part in the developrment of
successful contributions to Google such as Google Images and Google Books.

Sub questions

Question Number : 76 Question Id : 99836721209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
For how many years has Susan been the CEO of You Tube, now?

Options:
1. % 4
2. ¥ 5
SR
4 = 7

Question Number : 77 Question Id : 99836721210 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
In which vear did she hecome the first marketing manager of Google?

Options:

1. % 2014
Z. % 19390
3% 1998
4 % 1999

Question Number : 78 Question Id : 99836721211 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
what is her father’'s profession?

Options:

1. * Founder of 23 and Me.

2. % Ph D, anthropologist

2. % Polish American biclogy professor

4. % Mo ophion 15 Corract



Question Number : 79 Question Id : 99836721212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The word acquisition 15 sirilar in meaning to:

Options:

1. ® Forfeit

2. % Surrender
2. ¥ Recover

4. % DMeed

Question Number : 80 Question Id : 99836721213 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Substitute the sentence with the best suitable word from the Fassage.

Public health professionals who investigate patterns of disease.
Options:

1. * Anthropologist

2. % Epidemiologist

3. % Acadermnia

4. % Mo option s Correct

Question Id : 99836721208 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Juestion Label - Comprehension

Eead the following information carefully and answer the given questions:

Susan Diane Wojcicki is a Polish-American technology executive. She has been the CEO of YouTube since
February 2014, Wojcicki was involved in the founding of Google and became Google's first marketing manager
in 19949 She was in charge of Google's original video service, and after observing the success of YouTube, she
proposed the acquisition of YouTube by Google in 2006,

Wiojcicki has an estimated net worth of nearly $500 million. Wojcicki is the daunghter of Esther Wojcicki, an
educator of Russian-Jewish descent, and Stanley Wojcicki, a Polish American physics professor at Stanford
University. She has two sisters: Janet Wojcicki, (Fh.D, anthropologist and epiderriologist) and Anne Wojcicki,
founder of 23andMe. She grew up on the Stanford campus with George Dantzig as a neighbour. She attended
Gunn High School in Palo Alto, California, and wrote for the school newspaper.

Wojcicki's first business was selling "spice ropes" door-to-door at age 11, A humanities major in college, she
toolk: her first computer science class as a senior. Wojcicki studied history and literature at Harvard University
and graduated with honors in 19900 She originally planned on getting a Ph.D. in economics and pursaing a
career irl acadernia but changed her plans when she discovered an interest in technology.

She also received her Master's of Science in economics from the University of California, Santa Cruz in 1993
and a Master of Business Administration from the UCLA Anderson School of Management in 19938 In
September 1998, the same month that Google was incorporated, its founders Larry Page and Sergey BErin set
up an office in Wojcicki's garage in Menlo Park. Before becoming Google's first marketing manager in 1999,
Wojcicki worked in marketing at Intel Corporation in Santa Clara, California, and was a managernent
consultant at Bain & Cormpany and BB, Webber & Company. At Google, she worked on the initial viral
marketing programs, as well as the first Google Doodles. Wojcicki also took part in the developrnent of
successful contributions to Google such as Google Images and Google Books.

Sub questions

Question Number : 76 Question Id : 99836721209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



For how many years has 5usan been the CEO of You Tube, now?
Options:
1. % 4
Z V5
3.%8
4 % 7

Question Number : 77 Question Id : 99836721210 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which wear did she become the first marketing manager of Google?

Options:

1. % 2014
2 % 1990
3. % 1998
4 ¥ 19939

Question Number : 78 Question Id : 99836721211 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat is her father’'s profession?

Options:

1. ¥ Founder of 23 and Me.

Z % Ph.D., anthropologist

2. ¥ Polish American biology professor

4. % INo option is correct

Question Number : 79 Question Id : 99836721212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The word acquisition is similar i rmeaning to;

Options:

1. ® Forfeit

2. % Surrender
3. ¥ Recover
4 % MNead

Question Number : 80 Question Id : 99836721213 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Substitute the sentence with the best suitable word from the passage.

FPublic health professionals who investigate patterns of disease.
Options:

1. % Anthropologist

2. ¥ Epidermiclogist

2. % Acadernia

4. # Mo option 15 correct
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Question Number : 81 Question Id : 99836721214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T STeg; S Wedd o = G

LIS
Options:

1. %89
2 ¥ art
3 %
4 % £

Question Number : 81 Question Id : 99836721214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ToTT T 16T & W T =

TEA

Options:



1. % 29
= ¥ s
3 % O
4. % Zar

Question Number : 82 Question Id : 99836721215 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T&TT TIT STeg oF THTE &7 =4 F a0

A
Options:

1. ¥ qogey

2. ¥ sEaaaE
3 % g

4 % T

Question Number : 82 Question Id : 99836721215 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
20T TIT STeg o THTE &7 =3 F )

WA
Options:

1. % gegey

2, ¥ s
3 % 2z

4 % T

Question Number : 83 Question Id : 99836721216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T gt A i A Fi
AT + g

Options:

1. % ugg

2. ® ymHE

3. % urHE

4 ¥ yizmg

Question Number : 83 Question Id : 99836721216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Taur T gt T |ET wier A
e+ e

Options:

1. * uge

2. ® uHE



3. %y
4, V’ﬂ'@’@

Question Number : 84 Question Id : 99836721217 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
oI T ST o RATIeRT T o0 WepTE & 120 & 11 a T

ELAREIANCT LR GO
Options:
1. % et sTead

2 grEteT s
3. ¥ TOveww gryw aead
4. & e sy

Question Number : 84 Question Id : 99836721217 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ToTT T TR 3 iR AT T WeRTE ST STET & AT e

HITg! aTgL Tore =T e 3o &
Options:

1. % gTieparerd Sleag

2. % [T s

3. ¥ TEEaw St ST

4, & gHarEg s

Question Number : 85 Question Id : 99836721218 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TR § & ® 9 A7 g=g T @ anEE 95 87
Options:

1. % greer

2 ¥ g

3 % T

4. % oq

Question Number : 85 Question Id : 99836721218 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TERET # 8 F 9 AT deg T @7 armrt el ae
Options:

1. % |\

o ¥ T

3. % At

4. %

Question Number : 86 Question Id : 99836721219 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



g AT T A B
Options:

1. % y&CHw
2. ® g

3. ® qrEE
4, & [ERW

Question Number : 86 Question Id : 99836721219 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
g, AT T I I

Options:

1. ® g&ea

2. ® graw

3. ® QIR

4, & EEW

Question Number : 87 Question Id : 99836721220 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o T ateg T U TaEE T A e

REECH

Options:

1. ¥ ez
2. % qRE

3. ¥ TearEr
4. % fopaeg

Question Number : 87 Question Id : 99836721220 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T2 T STeg o7 TAI9dE T = @ik

BHEE)

Options:

1. % TEZER
= AT

3. ¥ g
4, ® g

Question Number : 88 Question Id : 99836721221 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

To T AT # Tk w2 g i

MR Q= ______ T e § Tig & ST #0T arqd 4= T am
Options:

1. % erfvet

2 ¥ Tt



3. ® AT
4 % gt

Question Number : 88 Question Id : 99836721221 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Terr g AR f Tl w E gid drem

TER Q= ______ T T H g @ SNTERT &Ur ST 44T feraT am
Options:

1. % erfedt

2 o rEt

3 ® AT

4. % gl

Question Number : 89 Question Id : 99836721222 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T I ST, T gee AT S

IGE
Options:

1. ¢ ufaar
o % giF
2 % i
4. % gige

Question Number : 89 Question Id : 99836721222 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

1T T e T g S 1
LGS

Options:
1. ¢ gigar
o % i
3. % gigard
4. ® giga

Question Number : 90 Question Id : 99836721223 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TraferET ameral | & S1g, a1 T T i

Options:

1. & o5 et gHAT H TETg 4
2. % T W qEdch Tl 8l

3. % g U

4. % [T AT ST AE 8




Question Number : 90 Question Id : 99836721223 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TRTeTET el | # A1 aTerd @ T i

Options:

1. ¢ T arde! AT § TETE o
o % i W qead

3. % g UEAT R

4 % [T HET ST S B

Question Number : 91 Question Id : 99836721224 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrgietiaT & & & 97 99y Fdard a7

Options:

1. % O7 ¥ &ef @07 T

2. % gl & ang A1 T A
3 o B A2 U & AR

4. % a7 ¥ UgT A5 AET

Question Number : 91 Question Id : 99836721224 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T o & @19 a7 aeg wdawT 27
Options:

1. % A7 & & &y T

2. % gl ¥ ang AR1 T A

3 o B E2 U & AETET

4. ® MFTH IET AR AT

Question Number : 92 Question Id : 99836721225 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR T & I AT AT ST o A F A R 57

Options:

1. & §7 S # Tiew # R 8
2. % gt Uz o% &ar )

3. % AT s Tgr g

4 % U E e B

Question Number : 92 Question Id : 99836721225 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TETATET # & B AT AT S e AT WA a7

Options:
1. g7 < # fiew aw Er 8
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Question Number : 93 Question Id : 99836721226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 93 Question Id : 99836721226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 94 Question Id : 99836721227 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 94 Question Id : 99836721227 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 95 Question Id : 99836721228 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 95 Question Id : 99836721228 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 97 Question Id : 99836721231 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 98 Question Id : 99836721232 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 99 Question Id : 99836721233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 96 Question Id : 99836721230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 97 Question Id : 99836721231 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 99 Question Id : 99836721233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 100 Question Id : 99836721234 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Revisit allowed for view? : No
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Disciplinel
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Question Number : 101 Question Id : 99836721235 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The volume of amniotic fluid at term is:
Options:

1 % 200—300ml



- « 600— 800 ml
z % 1 litre

4 % L5 litre

Question Number : 101 Question Id : 99836721235 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 102 Question Id ;: 99836721236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The length of the umbilical cord is around:

Options:
1 % 10cm

> % 15cm
z % 20cm

4 « 40 cm

Question Number : 102 Question Id : 99836721236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
;1 % 10 cm

> % 15 cm



2 % 20 cm

4 v 40 cm

Question Number : 103 Question Id ;: 99836721237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
All of the following coagulation factor levels increase during pregnancy. except:

Options:
1 % factor VIII

> % factor IX
z % factor X

4 « factor XI

Question Number : 103 Question Id : 99836721237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 104 Question Id : 99836721238 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Goodell’s sign is:
Options:

, « softening of the uterus

- % contraction of the uterus

5 w asymmetric enlargement of the uterus



4 % blue colouration

Question Number : 104 Question Id : 99836721238 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 105 Question Id : 99836721239 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The product of conception is called an embryo between:

Options:
; = 0-l4days
> o 3 — 10 weeks

3 % 12— 18 weeks

4 % 19—23 weeks

Question Number : 105 Question Id : 99836721239 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 106 Question Id : 99836721240 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT increased in pregnancy?
Options:

, « totallung capacity

> % blood volume

- » Extra cellular Fluid (ECF)

4 ® Weight

Question Number : 106 Question Id : 99836721240 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 107 Question Id : 99836721241 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

In obstetric grip, the 3rd Leopold maneuver is:
Options:
, w fundal grip

- % umbilical grip

=  pawlik’s grip



4 = pelvic grip

Question Number : 107 Question Id : 99836721241 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Options:
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Question Number : 108 Question Id : 99836721242 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Progression of labour is best assessed by:

Options:
, « Partograph

- % cervical dilation

5 # fetal monitoring

4 % status of membrane

Question Number : 108 Question Id : 99836721242 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 109 Question Id : 99836721243 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The most common presentation of the foetus at term is:

Options:
1 ® OCCIpITO posterior

- % breech
3 Vertex

4 % brow

Question Number : 109 Question Id : 99836721243 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 110 Question Id : 99836721244 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The maximum diameter of the cervical canal after full dilatation is:
Options:

1 % 6cm

- % 8cm

= « 10cm

4 % l4cm



Question Number : 110 Question Id : 99836721244 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1 % 6 cm

> % 8 cm
=z « 10 cm

4 % 14 cm

Question Number : 111 Question Id : 99836721245 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Lochia mbra occurs in:
Options:

; o 1—ddays

% 5 —9days

g
5 & 10— 15 days
4 % 20—30days

Question Number : 111 Question Id : 99836721245 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 112 Question Id : 99836721246 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The most common site of ectopic pregnancy is:

Options:
1 % isthmus

-  ampulla

%z % infundibulum

4 % interstitium

Question Number : 112 Question Id : 99836721246 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 113 Question Id : 99836721247 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Spiegelberg’s criteria is used in the diagnosis of:
Options:

, = cervical pregnancy

> % corneal pregnancy

- = tubal pregnancy

4  Ovarian pregnancy



Question Number : 113 Question Id : 99836721247 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 114 Question Id : 99836721248 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The most common infection resulting in ectopic pregnancy is:

Options:
, « chlamydia

- % candida

5 % Syphilis

4 % gonorrhoea

Question Number : 114 Question Id : 99836721248 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 115 Question Id : 99836721249 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Babies of diabetic mothers are:
Options:

1 % small

5 o DIg

5 # Cyanosed

4 w hypoxic

Question Number : 115 Question Id : 99836721249 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 116 Question Id : 99836721250 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Eclampsia can be prevented by:

Options:
, % Diazepam

- # Alpha methyldopa

5  magnesium sulphate

4 = termination of pregnancy



Question Number : 116 Question Id : 99836721250 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 117 Question 1d : 99836721251 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Most common type of eclampsia is:

Options:
1 % intercurrent

5 of antepartum

5 % iDtrapartum

4 % Postpartum

Question Number : 117 Question Id : 99836721251 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 118 Question Id : 99836721252 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The following are the major renal birth defects in infants of diabetic mothers, except:

Options:
1 renal AgeNnesls

> o renal failure

5 = hydronephrosis

4 = polycystic kidney

Question Number : 118 Question Id : 99836721252 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 119 Question Id : 99836721253 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The following vaccines are contraindicated during pregnancy, except:

Options:
1 % rubella

> u Yyellow fever

- % Ieasles

4 « tetanus

Question Number : 119 Question Id : 99836721253 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 120 Question Id : 99836721254 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The normal heart rate in a new born is;
Options:

1 % 60— 80/min

s> % 100— 110/min
= « 120— 140/min

4 % 180—200/min

Question Number : 120 Question Id : 99836721254 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

. % 60 - 80/min

. % 100 - 110/min
2 « 120 - 140/min

., % 180 - 200/min

Disciplinez
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Group Id: 998367796
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Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Discipline?
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Section Number : 1
Section type: Online
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Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
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Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 99836721255 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Phototherapy is used in:
Options:

, « heonatal jaundice

- % Deonatal meningitis

- #% Dheonatal tetanus

4 % Hypoxic ischemic encephalopathy (HIE)

Question Number : 121 Question Id : 99836721255 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 122 Question 1d : 99836721256 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Breast feeding for a new born should be started:
Options:

, « assoon as possible

- % after 6 hours

5 u after 1 day

4 = after meconium is passed

Question Number : 122 Question Id : 99836721256 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 123 Question Id : 99836721257 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following does NOT come under APGAR (Appearance, Pulse. Grimace, Activity, and Respiration score)
score?

Options:

1 % Colour



> % Muscle tone
= % IHeart rate

4 +« Meconium

Question Number : 123 Question Id : 99836721257 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 124 Question Id : 99836721258 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Stadiometer is used to measure:
Options:

; « the height of a child

> u theweight of a child

z % the mid arm circumference

4 % the skin fold thickness

Question Number : 124 Question 1d : 99836721258 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 125 Question Id : 99836721259 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Undescend of testis is called:
Options:

; = Klinefelter’s syndrome

o « cryptorchidism

5 » hydrocele

4 # varicocele

Question Number : 125 Question Id : 99836721259 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 126 Question Id : 99836721260 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The weight of a new-born increases by four times by the age of:
Options:

1 % 9 months



Question Number : 126 Question Id ;: 99836721260 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 127 Question Id : 99836721261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ORS (Oral Rehydration Solution) once prepared should be used within:

Options:
1 % 1 hour
- % 06 hours

z % 12 hours

4 « 24 hours

Question Number : 127 Question Id : 99836721261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

v SR A Jasteleor Feaa (3Re REssue Aer=/0ORS) dOR &3 & 318 sHeT F
ST 3TTET FT AT TR0
Options:



o ® SE%

4 24 U

Question Number : 128 Question Id : 99836721262 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In Gomez’s classification, a child with 88% of normal weight for age will be classified as having:

Options:
1 +« mild malnutrition

- % moderate malnufrition
= % severe malnutrition

4 % nho malnutrition

Question Number : 128 Question Id : 99836721262 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 129 Question Id : 99836721263 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ferric chloride test is used to diagnose:
Options:

. « Pbhenylketonuria



- u alkaptanuria

5 w hartnup disease

4 # Cystinuria

Question Number : 129 Question Id : 99836721263 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 130 Question Id ;: 99836721264 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Menkes syndrome is a disorder of:
Options:

| « Copper transport

- % iron transport

5 % sodium transport

4 R pGIﬂSSiIH]ﬂ. transport

Question Number : 130 Question Id : 99836721264 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 131 Question Id : 99836721265 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
1 gm of haemoglobin contains of bilirubin.
Options:

| % 25 mg

5, o 33108

L |
A
=]

Question Number : 131 Question Id : 99836721265 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
1 gm gAREeET & EIERIECECIEY
Options:
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Question Number : 132 Question 1d : 99836721266 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Myotonic dystrophy is a:
Options:

1 « autosomal dominant



~ # autosomal recessive
z % XP-linked recessive

4 # Xq28-linked recessive

Question Number : 132 Question Id : 99836721266 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 133 Question Id : 99836721267 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wilson disease is an inborn error of:
Options:

1 # aluminium metabolism

- % Zinc metabolism

5 « Ccopper metabolism

4 % sodium metabolism

Question Number : 133 Question Id : 99836721267 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 134 Question Id : 99836721268 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Deficiency of vitamin D in children causes:
Options:

; = xerophthalmus

5 % Scurvy

= % beriberi

4 « rickets

Question Number : 134 Question Id : 99836721268 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 135 Question 1d : 99836721269 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The amount of iron in human milk is:
Options:

¢ 0.01 —0.20 mg/dl

DR



5 o 0-029 —0.49 mg/dl

5 & 0.51—-0.63 mg/dl

4 % 0.83—0.93 mg/dl

Question Number : 135 Question Id : 99836721269 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

. % 0.01 - 0.20 mg/dl

, o 0.029 - 0.49 mg/dI

0.51 - 0.63 mg/dl

L
®

0.83 - 0.93 mg/dl

o
®

Question Number : 136 Question Id : 99836721270 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who demonstrated the presence of bacteria in air?

Options:
1 % Robert Koch

- % Lambel Shattuck
= % Chadwick

4 « Louis Pasteur

Question Number : 136 Question Id : 99836721270 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 137 Question Id : 99836721271 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A state of physical, mental and social wellbeing and NOT merely an absence of disease or infirmity is called:
Options:

¢ community

1W
> « health

5 % disease

4 # prevention

Question Number : 137 Question Id : 99836721271 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 138 Question Id : 99836721272 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The following are characteristics of health care, except:

Options:

, = adequacy



- % appropriateness

= « lelevance

4 = availability

Question Number : 138 Question Id : 99836721272 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 139 Question Id : 99836721273 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Epidemiological triad is:
Options:

1 ¥ environment. agent, host

5 % environment. disease, host

- » disease agent, man, host

4 = disease agent, host . environment

Question Number : 139 Question Id : 99836721273 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 140 Question Id : 99836721274 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Action taken prior to the onset of a disease. which removes the possibility that a disease will ever occur is called:

Options:
, » primordial prevention

o « primary prevention

- » secondary prevention

4 # tertiary prevention

Question Number : 140 Question Id : 99836721274 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 141 Question Id : 99836721275 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

An example of primordial prevention is:
Options:

, « Dbhysical exercise

- % hand wash

screening test

il
2

case-finding programmes

ok
"

Question Number : 141 Question Id : 99836721275 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 142 Question Id : 99836721276 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Epidemiology is the:

Options:

; = Dbasic sclence of disease and prevention

- % Dbasic science of community and disease

5 » basic science of preventive and disease modification

4 « Dasic science of preventive and social medicine

Question Number : 142 Question Id : 99836721276 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 143 Question Id : 99836721277 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The number of deaths per 1000 estimated midyear population in a year, at a given place is called:
Options:

. = specific death rate



- u case fatality rate

= « crude death rate

4 # proportional mortality rate

Question Number : 143 Question Id : 99836721277 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 144 Question Id : 99836721278 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The number of new cases occurring in a defined population during a specified period of time is called:

Options:
, = prevalence

> o incidence
%z % survival rate

4 % death rate

Question Number : 144 Question 1d : 99836721278 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 145 Question Id : 99836721279 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Case control study is a type of:
Options:

, = descriptive study

- & community ftrials

-  analytical study

4 # field trials

Question Number : 145 Question Id : 99836721279 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
q0T fATa0T (FH ) HEUTT T YK T gl

Options:

| % TUHAICHF HeIOH

.« TGS TETT

5 v ERNUTcHF HeTaa

.« & (Fres) Tliefor

Question Number : 146 Question Id : 99836721280 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The following are the other names of cohort study, except:
Options:

, = Pprospective study



> u longitudinal study

5  letrospective study

4 = incidence study

Question Number : 146 Question Id : 99836721280 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 147 Question Id : 99836721281 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
An epidemic of disease in bird population is called:

Options:
1 ® EPIZO0IIC

> # enzootic
3 % exotic

4 « epornithic

Question Number : 147 Question 1d : 99836721281 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 148 Question 1d : 99836721282 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Frafafea 7 @ 5w & dfofeg seg v a9 (veegees) &% &7

Options:
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Question Number : 148 Question Id : 99836721282 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The following are live attenuated vaccines, except:

Options:
1 % BCG

- % measles
=  typhoid

4 % rotavirus

Question Number : 149 Question Id : 99836721283 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A polio vaccine is stored at:

Options:
1 % 0°C



> o —20°C
2 ® =30 °C

4 ® —40 °C

Question Number : 149 Question Id : 99836721283 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 150 Question Id : 99836721284 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In PHC’s, the deep freezer’s cabinet temperature is maintained between:

Options:
1. =159 1025 °C

5 % —30°C to—40°C
5 % —45°C 1055 °C

4 % —60°C to—70°C

Question Number : 150 Question Id : 99836721284 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

| v -15°C & -25 °C

> % -30°C & -40°C



. % -45°C ¥ -55°C

4 % -80°C & -70°C

Question Number : 151 Question Id : 99836721285 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The immunoglobulin which is transported across the placenta is:

Options:

.

Question Number : 151 Question Id : 99836721285 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 152 Question Id : 99836721286 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
At what age, according to WHO classification of immunization, is the measles vaccine administered?

Options:
, % Assoon as possible after birth

- % 6-—10 weeks



z % 4—35 months

4 « 9— 15 months

Question Number : 152 Question Id : 99836721286 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 153 Question Id : 99836721287 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a commonly used disinfectant for hand washing?

Options:
, = Bleaching powder

-  Ethyl alcohol

- % Peracetic acid

4 % Phenol

Question Number : 153 Question Id : 99836721287 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 154 Question Id : 99836721288 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is an example of mass screening?

Options:
1 % Diabetes

> o Tuberculosis

- » Hypertension

4 % Breast cancer

Question Number : 154 Question Id : 99836721288 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 155 Question Id : 99836721289 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The following are the uses of screening, except:

Options:
1 % case detection

- % control of disease



5  Multiphasic screening

, = educational opportunities

Question Number : 155 Question Id : 99836721289 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 156 Question Id : 99836721290 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The World Health Assembly confirmed the global eradication of small pox in the year:

Options:
1 % 1970

5 o 1980
5 % 1990

4 % 2000

Question Number : 156 Question Id : 99836721290 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 157 Question Id : 99836721291 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The incubation period for chicken pox is:

Options:

; % 0—35days

5 o 1 —12days
25— 28 days

4 % After | month

Question Number : 157 Question Id : 99836721291 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 158 Question Id : 99836721292 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The most life-threatening complication of measles is:

Options:
| « bneumonia

> % skin infection



- % Ppharyngitis

4 = Jaundice

Question Number : 158 Question Id : 99836721292 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Question Number : 159 Question Id ;: 99836721293 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Hepatitis C is transmitted through:

Options:
1 % touch

- » sharing food

3 % faeces

4 « blood

Question Number : 159 Question Id : 99836721293 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 160 Question Id : 99836721294 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The lymphatic filariasis covers infection with the following three closely related nematode worms. except:
Options:

L ¥ P. sergenti

- #% W. bancrofti

- = B.malayi

4 % B.timoli

Question Number : 160 Question Id : 99836721294 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Group Number : 9
Group Id: 998367798
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20

Revisit allowed for group Instructions? : Yes



Maximum Instruction Time: 0

Minimum Instruction Time: 0
Discipline4

Section Id : 998367919

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 9983671161
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 99836721295 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT a Madrid classification of leprosy?
Options:

1 % Indeterminate

- % Tuberculoid
= % Border-lined

4 « Pure neuritic

Question Number : 161 Question Id : 99836721295 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 162 Question Id : 99836721296 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The following are sexually transmitted diseases, except:

Options:
1 ® gGLlDl‘L’llGea

o o leprosy

5 w granuloma

4 % AIDS

Question Number : 162 Question Id : 99836721296 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

| TAE (e

_ FS5 [T

P

Question Number : 163 Question Id : 99836721297 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which vear was the National ATDS Control Programme launched in India?

Options:
;. ® 1980
> % 1983

=i 1987



4 % 1990

Question Number : 163 Question Id : 99836721297 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 164 Question Id : 99836721298 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
BMI 30.00 — 34.99 belongs to a classification of:

Options:
, % pre-obese

> « obese class 1

= % obese classII

4 % obese class III

Question Number : 164 Question Id : 99836721298 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& TH.37E.(BMI) 30.00 - 34.99 a8 ¥ g Feifawur o gafoag?
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Question Number : 165 Question Id : 99836721299 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The national Maternity Benefit Scheme has been modified into a new scheme called JSY. which is:
Options:

, « Janani Suraksha Yojana

> » Janaki Suraksha Yojana

5 = Janani Subah Yojana

4 = Janani Subash Yojana

Question Number : 165 Question Id : 99836721299 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 166 Question Id : 99836721300 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Swachh Bharat Abhivan was launched in:

Options:
1 % October 2013

- % November 2013

= « October 2014



4 % November 2014

Question Number : 166 Question Id : 99836721300 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 167 Question Id : 99836721301 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a terminal contraceptive method?

Options:
1 % Barrier method

- % Hormonal method
3 o Sterilization

4 # Post—conceptional method

Question Number : 167 Question Id : 99836721301 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 168 Question Id : 99836721302 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Copper—T belongs to:

Options:

First generation IUCDs

3.9

-  Second generation IUCDs

5 % [Ihird generation IUCDs

4, = Fourth generation TUCDs

Question Number : 168 Question Id : 99836721302 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 169 Question Id : 99836721303 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Postcoital contraception is recommended of unprotected intercourse.

Options:
1 % within 24 hours

> % within 48 hours

= « Within 72 hours



4 w Wwithin 5 days

Question Number : 169 Question Id : 99836721303 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 170 Question Id : 99836721304 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Breast milk contains amount of iron.

Options:
| % 0.1 to 0.3 mg

5 0410 1.5 mg

2 R 1.6to 2.0 mg

4 % 2to4 mg

Question Number : 170 Question Id : 99836721304 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 171 Question Id : 99836721305 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The following are body-building foods. except:

Options:
1 % milk

> % meat

5 % ©ggs

4 o sugar

Question Number : 171 Question Id : 99836721305 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 172 Question Id : 99836721306 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is an essential amino acid?

Options:
, = Arginine
> % Serine

5 o Lysine

4 = Glycine



Question Number : 172 Question 1d : 99836721306 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 173 Question Id : 99836721307 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Arachidonic acid is abundantly found in:

Options:

; = Vvegetable oil

> % palmoil

2  meat

4 % fishoil

Question Number : 173 Question 1d : 99836721307 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

| % FAEAS T

o % TF F

3 « HIH

4 % HOOl & dd



Question Number : 174 Question Id : 99836721308 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Vitamin B3 is also called:
Options:

1 % riboflavin

- ¢ niacin

5 w pyridoxine

4 = pantothenic acid

Question Number : 174 Question 1d : 99836721308 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 175 Question Id : 99836721309 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The richest source of Vitamin C is:
Options:

1 « amla

- % milk
- % fish

4 % curd

Question Number : 175 Question Id : 99836721309 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 176 Question Id : 99836721310 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
milk is rich in calcium.

Options:
1 « Buffalo

> % Cow
= % Goat

4 % Human

Question Number : 176 Question Id : 99836721310 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
% g H HoUTH Y & gl

Options:
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Question Number : 177 Question Id : 99836721311 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Milk ejection reflex is also called:

Options:



, w prolactin reflex

o  OXytocin reflex

5 ® progesierone reflex

4 w estrogen reflex

Question Number : 177 Question Id ;: 99836721311 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 178 Question Id : 99836721312 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Occupational disease due to cotton dust is called:

Options:
1 #% anthracosis

- % bagassosis

5  byssinosis

4 = farmer’s lung

Question Number : 178 Question Id : 99836721312 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 179 Question Id : 99836721313 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The following are the autosomal dominant traits, except:

Options:
; = achondroplasia

-  lay—Sachs disease

;. w Huntington’s chorea

4 = Marfan syndrome

Question Number : 179 Question Id : 99836721313 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

| 5 SOMTEYRY (THUZICETRAT)
2. o -HeFT (Tay-Sachs) T
3 % gféaresl FeIAT (Huntington’s Chorea)

, » T TEwsTor (REE)

Question Number : 180 Question Id : 99836721314 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
District hospitals and community health centres are under:



Options:

, = primary care level

-  Secondary care level

5 u tertiary care level

4 % basic care level

Question Number : 180 Question Id : 99836721314 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 9983671162
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 99836721315 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Nischay is a:

Options:

| « bregnancy test kit

> % STD test kit

5 » kit for rapid malaria diagnosis

4 = Spottest for HIV

Question Number : 181 Question Id : 99836721315 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT = 27

Options:
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Question Number : 182 Question Id : 99836721316 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The most common occupational cancer is:
Options:

1 « skin cancer



> u lung cancer

= % bladder cancer

4 % leukaemia

Question Number : 182 Question Id : 99836721316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 183 Question Id : 99836721317 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Category 5 of biomedical waste indicates:

Options:
% Wwaste sharps

-  Cytotoxic waste

= % human anatomical waste

4 = biotechnology waste

Question Number : 183 Question Id : 99836721317 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 184 Question Id : 99836721318 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The study of the physical, social and cultural history of man is called:

Options:
; = sociology

- % social medicine

- # social psychology

4 « anthropology

Question Number : 184 Question Id : 99836721318 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 185 Question Id : 99836721319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Peptic ulcer is associated with which of the following blood groups:
Options:

1.+« 0



Question Number : 185 Question Id : 99836721319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ¢ O

3_-5468

g4 ® AB

Question Number : 186 Question Id : 99836721320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The process of burning solid waste is called:

Options:
1 #% burial

- % nanure pits

3 ¢ incineration

4 = controlled tipping

Question Number : 186 Question Id : 99836721320 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 187 Question Id : 99836721321 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The preparation of ORS (Oral Rehydration Solution) technique can be effectively taught by:

Options:
1 # chalk and talk

- % individual approach

% % mass media

4 « demonstration

Question Number : 187 Question Id : 99836721321 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 188 Question Id : 99836721322 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The prevention of scurvy using citrus fruit was discovered byv:

Options:
1 % John Snow

> o James Lind



= #% Louis Pasteur

, = Hippocrates

Question Number : 188 Question Id : 99836721322 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 189 Question Id : 99836721323 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
An example of propagative transmission is:

Options:
1 % malaria

-  plague
- # filariasis

4 % schistosomiasis

Question Number : 189 Question Id : 99836721323 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 190 Question Id : 99836721324 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

At PHC level, all the Universal Immunisation Programme (UIP) vaccines are stored in:
Options:

1 % walk-in cold rooms

- u deep freezers

5 « ice-lined refrigerators

4 % cold boxes

Question Number : 190 Question Id : 99836721324 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 191 Question Id : 99836721325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The colour of the box for DOTS category I treatment is:

Options:
1 « red

> % blue



- u yellow

4 % orange

Question Number : 191 Question Id : 99836721325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 192 Question Id : 99836721326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The important vector for urban malaria is:

Options:
, = Anopheles culicifacies

Anopheles fluviatilis
5  Anopheles stephensi

Anopheles sundaicus

Question Number : 192 Question Id : 99836721326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
E FARAT & Hgeaqu! UTTageh (X)) it g2

Options:

i TAhelS FhfofaharS (Anopheles Culicifacies)

o TAIhellel TeffadTiclerd (Anopheles Fluviatilis)



. » UANheS THHEN (Anopheles Stephensi)

, « USNhollsl HSTgehd (Anopheles Sundaicus)

Question Number : 193 Question Id : 99836721327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Calculate the BMI of a person whose weight is 64 kg and height 160 cm.

Options:
1. ® 20

Question Number : 193 Question Id : 99836721327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
64 kg X 3T 160 cm F=ITS I A F S.TH.AMS. (BMI) FF 70T H:Y)

Options:

1 #® 20

o ® 24
z o 25

4 ® 32

Question Number : 194 Question Id : 99836721328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
National Cancer Awareness Day is observed on:

Options:

-th

1. ¢ November

5 % 1% December

2 ® 4% April



4% 25t Tyly

Question Number : 194 Question Id : 99836721328 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TS FHT ARkl 9H F9 AATAT AT 27

Options:

, x 25 IR A

Question Number : 195 Question Id : 99836721329 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
IQ in mild mental retardation is:

Options:

1 % 20-—34
o> % 35-49
= o 50-70
4 % 70—90

Question Number : 195 Question Id : 99836721329 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
. % 20 - 34
o % 35 - 49

2 « 50 - 70



4 % 70 - 90

Question Number : 196 Question Id : 99836721330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The most common cause of perinatal mortality is:

Options:
, « birth asphyxia

- w birth injury

5 % intrauterine infection

4 # neonatal infection

Question Number : 196 Question Id : 99836721330 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

FHAHTON Hcg &7 1 HallUe HHET HROT FAT g2

Options:

| » STTH @ETHERY (F9 vfEwTEaa)

. SeHId =Ie

4 % TGS THAUT

Question Number : 197 Question Id : 99836721331 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Colostrum is rich in:

Options:

, « immunoglobulin

> # iron
3 % calcium

4 % sodium



Question Number : 197 Question Id : 99836721331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
H FIETEH G AT F 9T 1T g

Options:

Question Number : 198 Question Id : 99836721332 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Down’s syndrome is:

Options:

trisomy 13

1.9

> u frisomy 18

5  (risomy 21

4 ® (risomy 22

Question Number : 198 Question Id : 99836721332 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

|y TEIUTEECT (FTEEE) 13
, u TEUTHECT (gTEEE) 18

. o TEIUTHECT (TEEE) 21



oh ReorEaT (grsaE) 22

Question Number : 199 Question Id : 99836721333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

When the uterus continues to contract until the placenta and membranes deliver, it is called the:
Options:

; w first stage of labour

» w second stage of labour

-  third stage of labour

, = fourth stage of labour

Question Number : 199 Question Id : 99836721333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
. % FHT H Gger =ROT

. TET HGET T

5 FHE W JET =T

4 ® QT T =tuT =1

Question Number : 200 Question Id : 99836721334 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In spinal cord injury, paralysis below the waist causes injury at the level of:

Options:
1 B C4

4 o 3



Question Number : 200 Question Id : 99836721334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

[TeE T AT H, FiE 9SU & A= FT e F TOT 9T T FT FROT 94T &l
Options:

1 * C4

> &R C'E'
= ® T4

4« L1



